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pqrtjal[m_,t_]=4/Pi*Sum[Sin[(2n+1) Pi x]*Expl- 2n+1 2 PA l
Display[ Tsfix > sq60.eps". Plot[partiaI[SQ,O]l,){[X(,o,1},) "2 4/2n+1), {n,0,m}] |
PlotRange-> {{0,1}, {0,4/Pi}}]]
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Figure 1: Fourier decomposition of square wave with 1, 2, 3, 10, 30, and 60
terms




/’er»a Caflen . nd

nrp= amp = 4 /Pi;
mep- mode[x , t_, n_] =amp/n+Sin{n *Pix] «Exp[-{Pin}"2 t];
mei= partialsum([x_, t_, m_] := Sum[mode([x, t, n], {n, 1, m, 2}];

witop- Animate | ‘
Plot {partialsumfx, t, 119], {x, ¢, 1}, PlotRange » {{0, 1}, {0, 1.2}}], {t, 0, .5}]
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Figure 2: Thermal time evolution of square wave (with 60 terms) at { = 107°,

10711072, 1072, 1071, and 0.3










